SAL A5O3 1

A MECietw

1 second, 256 megabytes

H N2 28or 1 8l0t2 Sejong UniversityE o 0| Lt
M EHGIAIR

Input

4= NO| FO{ZICE (1 < N < 100)

Output

N7{ol £0f ZX sejong UniversityE EHSIC}

input

1

output

Sejong University

input

2

output

Sejong University
Sejong University

B. &Z5teH MBS A H!
1 second, 256 megabytes

O[O Aol A= EHO{S2 MOI7t 17| W20 EBHo|E MBSH Y S
2{11 otC}.

SHA| 2 2tH3| 22 T & Ex37|= PE7] W2, 71Z0 A= Hof
o X520 2t 0|Y 2 CHE EXAE +F3l M T MY ot o
ct.

7|1E0

AE L7 FOIRE W, M=Z 2= THofet T E E Rt JH4=7} &
Of ZOoJo] it 0| [f O] S "LO|ATh & 0|2t BHrt.

= 207t £ 2R 5, 0 Th3}O! 5, £ %7t [n/2] Ol4
0| 81 "LtO| A%k At O|at: Sh}

t; il 7N

& tHo7t sejongO|d, BHE THO{7F §isungO|H "LIO|A

Input
A Hm E0f HIAE Ao|29| =T (1 < T < 100)7F FO{TICt,

Zf | AE ZojA0rC R E0f| EHoj2] 20| n (1 < n < 2000)0] FH{T

=3
dEn O 0e S B0 242 Iupy A2 XIE 0 0|20 F J|E
ME BHE Etof £7} Z0{RILt,

£Hof sof

Output
Z} |2 E 7|0 £0f CHSH "Lto| A%k

oF E0 SHLHY Z A2,

Atgho|M yEs, X 200 NoE

input

4
6
sejong
jisung
6
sejong
jesong
5
hello
olleh
4

king
xing

output

YES
NO
YES
NO

C. AE X ABIAICH
1 second, 256 megabytes

S0|= o fot 2/ E SOrLt. d2iM o 28 28 E 7|2 ;T

3

40|17k nol =2 aq, a9, -, a,0 FORES T,

20|17t nQl =€ bE BEH T DL}

Input
XA =0 £ a0l 20/ n (1 <n < 2-10°)0] FofTCh
= HR F0| £ a0l 2t U a; (—10* < a; < 10*)7F FO{TICE

Output
MM fote ES SHOCHL

input

5
31415

output

14

input

6
-812345

output

7

D1. MEH &=t
1 second, 256 megabytes
MESHE=NLes "ME

Of =t "M ST =T 272

Qs AZX2 0 O|R20(Tl 2XHE s7t FO{E I, 2XtEE Z0[7t1 0]
HOol & BEXIEE 23sl= M2 CHE B2 HIHX| L7t

O|E 0, aaaaE F EAEE 20t MEHE HRH2 53 aaaZ LI
= W aa aaZ L @Yo 2 & 274X 0| L

O|lf 2 aaaZ Ltre Wt aaa a2 LHrE SN SMTHCHE HR
= SYSICHD 7MYt E 2 ST M= B2 |2l5HAL

Input

KA S0l Bl AE #0|A0 A4 ¢ (1 < t < 100)0] Fo{ZICt,

Chs t7hel Eo0l= Lol 22X 20 O|R 0T EXFE s7h FOITICE 2
TAEO| Z0|= 12 Ch= 21, 10002 Ch ZfALE 2Tt

Output

2} H|AE A O|ADtCH shE0] St 2X|0[AM /7ot HES EHBCL
input

3

aaaa

abcd

ababab




output

D2. MEh& =7t
2 seconds, 256 megabytes

MESUHEENLE "MESO =720 NS =72t

Lol AZ A2 O|R0IT EXHE s7F FO|E I, 2XtE S Z0|7H1 O
ool F EXNEE ZEGE MZ CHE Y2 RO et

£0, 2aaaE F AR 226l= ME L2 WR2 53 aaaZ LHF
WA aa aaZ LM YHOZ F 27tHX|O|Ct.

Input

N HM E0l= HAE Ao|lA2 Jha=¢ (1 <t < 1000)0| FO{ZIC},
CHE t7hel E0il= Lt AZ X208 O| R 07 ZX+E s7F FO{TICt. 2
Aol Z0|= 18 Ch= A1, 20 0002 CH= 2 ALE Z 0

Output
2} HAE 7{|0|AD0tCt ohE0f StLMY ZH oM 2718t= YES S= ottt
input
3
aaaa
abcd
ababab
output
2
3
4

E. §0l2/2E9] 7H0|5

2 seconds, 256 megabytes

n7fe| #o| L1, Of =0T CHE Ho 2 +2H0|S S SfOFstet. Apilo| |

rr 0=

Ol M &AM t2= 20f CHA| RFMC| o E &*OPE B2ol & T3t
Z2OYS YOI 2.

Input
AW =0 HAE AHo|20| 7= @ (1 < Q < 500)0| FAZTICE

=M =5H 2t HAE AOo[A0M 2O M F0{Z 2 0] 42| 22| FH==n,
t7h FO{ZICE (2 < n < 50,2 < t < 10'8)

BEE HAE A o[22 nof 2te

g2 1000 2Lt 2Lt Z30| EF &L

Output
ZH0IM 275t HE 998 244 35322 Lt LIHA|E £t

input

F. Bt X 27|

1 second, 256 megabytes

1x N37|o 8 L& 30 EfEE M=

{O
"
mju
-
o
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Input
AW Z0| N (1 < N < 10%)0] Fofzict.

Output
W £0f 42 =5 998 244 35322 Lt

LIHXIE &8

input

2

output

11




